

Exercice n° 6 printemps maths:

Soit  $f, \forall x > \frac{1}{2}, f(x) = \sqrt{\frac{P_m^2\left(\frac{x+1}{x}\right)}{\text{Dim}^3\left(\frac{1}{x}\right)}}$

1. Développer à l'ordre  $\frac{1}{x^3}$  en  $x \rightarrow \infty$ :

$$P_m\left(\frac{1+x}{x}\right) = P_m\left(1 + \frac{1}{x}\right) \checkmark$$

$$P_m\left(1 + \frac{1}{x}\right) \underset{x \rightarrow \infty}{=} \frac{1}{x} - \frac{1}{2x^2} + \frac{1}{3x^3} + o\left(\frac{1}{x^3}\right) \text{ oui}$$

$$\text{Dim}\left(\frac{1}{x}\right) \underset{x \rightarrow \infty}{=} \frac{1}{x} - \frac{1}{6x^3} + o\left(\frac{1}{x^3}\right) \checkmark$$

Donc  $f(x) = \frac{\frac{1}{x} - \frac{1}{2x^2} + \frac{1}{3x^3} + o\left(\frac{1}{x^3}\right)}{\left(\frac{1}{x} - \frac{1}{6x^3} + o\left(\frac{1}{x^3}\right)\right)^{3/2}}$  ~~Non!~~

On factorise par  $\frac{1}{x}$  termes dépendant

$$\underset{x \rightarrow \infty}{=} \frac{\left(\frac{1}{x} - \frac{1}{2x^2} + \frac{1}{3x^3} + o\left(\frac{1}{x^3}\right)\right)}{\left(\frac{1}{x} - \frac{1}{6x^3} + o\left(\frac{1}{x^3}\right)\right)^{3/2}} + \frac{1}{2x^2} - \frac{1}{2x^3}$$

OK si reprenne

$$= \lim_{x \rightarrow +\infty} \left( \frac{1}{1 + \frac{\frac{1}{2}x^2 - \frac{1}{2}x^3}{\frac{1}{x} - \frac{1}{2}x^2 + \frac{1}{3}x^3 + o\left(\frac{1}{x^3}\right)}} \right)^{1/2}$$

$$= \lim_{x \rightarrow +\infty} \left( 1 - \frac{\frac{1}{2}x^2 - \frac{1}{2}x^3}{\frac{1}{x} - \frac{1}{2}x^2 + \frac{1}{3}x^3 + o\left(\frac{1}{x^3}\right)} \right)^{1/2}$$

$$= \lim_{x \rightarrow +\infty} \left( 1 - \frac{\frac{1}{2}x^2 - \frac{1}{2}x^3}{\frac{1}{x} - \frac{1}{2}x^2 + \frac{1}{3}x^3 + o\left(\frac{1}{x^3}\right)} \right)$$

$$= \lim_{x \rightarrow +\infty} \left( 1 - \frac{x^3 - x^2}{\frac{1}{2}x^4 - \frac{1}{3}x^3 + \frac{1}{3}x^4 + o(x^2)} \right)$$